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Section A — Data Interpretation and Quantitative Ability
Answer guestion nos. 1 to 4 basedwm lﬁﬁ&?ﬂg IS Ol'Lljl‘l%?lyl'lQn ol

The following graphs give annual data of Assers. Sales (as percentage of Assets) and Spending on Corporate

Social Responsibility (CSR) (as percentage of Sales). of a company for the period 2004 - 2009,

Assets (YCrore) Sales (% of Assets) CSR Spending (% of Sales)
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160 160
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2004 2005 2008 2007 2008 2000 2010 | 2004 2005 2006 2007 2008 2000 2006 2005 2008 2009
In which year was the increase in spending on CSR, vis-a-vis the previous year, the maxim 1
2
AL 2005
B. 2006 . O
C. 2007 \
D. 2008
E. 2009 @,
Of the years indicated below, in which year was the ratio of CS Gg’n the maximum? 1
AL 2004
B. 2005
C. 2006
D. 2007 e
What was the maximum value of spending/o activities in the period 2004-2009? -
A.T0.5 Crore %
B. ¥ 1.0 Crore
C.% 2.0 Crore
D. % 3.0 Crore 6
E. ¥ 4.0 Crore
L 4
In which year, did wending on CSR (measured in ) decline, as compared to previous. year? 2
AL 2006
B. 2007
C. 2008
D. 2009
EE. None of the above
2
=, 1
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Answer question nos. 5 to 7 based on the following information.

Five years ago Maxam Glass Co%%%tﬁgﬁ-hé-gtggH%Q&hﬁthe"ﬁ've leve :
Level-1: 55; Level-2: 65: Level-3: 225; Level-4; 255 & Level-5: 300. Over the years the ¢

people based on ad-hoc requirements. in the process also selecting ex-defence servi
The following graph shows actual staff strength at various levels as on date.

350 A o
300 A §- ic
2 i
200 - +
150 -
ém !
5 = - i
2 o = 3

Organizational level

1

2
The level in which the Ex-Defence Servicemen are highest in percentage terms Q
¢

N
4%

If the company decides to abolish all vacant posts at El which level would incur the

EoN®E >
o b —

percentage terms?

o &
cs éﬁ\\

£.5

Among all levels. which leveld lowest representation of Ex-policemen?

9

B.2

C3 ¢

D4 rit i i
RS

- I'-
Inalo , there are ten houses in a row. On a particular night a thief planned to steal from th

locs w many ways can he plan such that no two of them are next to each other?

_*
A. 56 onk Syl
B.73 -
C. 80
D. 120 .




E. None of the above

9 If x= (9+4V5)" = [x] + f, where (xY\’sVXé’tYm?ﬁb% e!g?a Hﬁgg Ixoajr;'d ?gm'ractinn. then x(1-f) equals-

n

Al

B. Less than 1

C. More than |

D. Between | and 2
E. None of the above

10 Let a,=1111111.....1, where | occurs n number of times. Then, 5

I. @y is not a prime.
ii. asy is not a prime.
i @33 is not a prime.
V. a7 is not a prime.

AL (1) is correct. O
B. (1) and (ii) are correct. O

C. (ii) and (iii) are correct.

D. All of them are correct. .
E. None of them is correct. Q
Answer question nos, 11 to 12 based on the following information ¢ O
Income-Tax Rates for Financial Yea
Individual & HUF below ‘Women below Tax Rates
age of 65 vears age of 65 years
Income up to T1,60.000/- Income up to T1,90.000/- Nil
T1.60,001 1o 3.00.000/- %1.90,001 10 33, 10%:
3. 00,001 1o 35, 00,000/- 33.00,001 1035, 20%
Above T5, 00,001 Above 33. 00 30%
L 2
Total income tax payable is obtained by adding tw: idnal surcharges on calculated income tax.

»  Educarion Cess: An additional surc Qd “Education Cess’ is levied at the rate of 2% on the
amount of income tax .

s#An additional surcharge called ‘Secondary and Higher Education
e amount of income tax.

»  Secondary and Higher Eductg
Cess’ is levied at the rate of

Il Sangeeta is a young working jeuy. ards the end of the financial year 2009-10, she found her total annual 1
income to be ¥ 3, 37, 425/-. W # of her income is payable as income tax?

A. 5.64 ¢

B.6.82
C. 7.38
D. 8.10
E. None of 1

OV

12 Mr. Madan obServed his tax deduction at source, done by his employer, as ¥ 3, 17, 910/- What was his total 2
income (in ¥) if he neither has to pay any additional tax, nor is eligible for any refund?

A. 13, 48. B35/-
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17

B. 14,45, 522/-
C. 14, 47, 169/-
D. 15, 70, 718/-
E. None of the above

www.sakshieducation.com

A straight line through point P of a triangle PQR intersects the side QR at the point S and the circumcircle of the 3
triangle PQR at the point T. If S is not the centre of the circumcircle, then which of the following is true?

A. (1/PS)+ (1/ST) < 2/ (QS)(QR)
B. (1/PS) + (1/ST) < 4/QR
C.(1/PS) + (1/ST) > IV(QS)OQR)
D. (1/PS) + (1/ST) > 4/QR

E. None of the above

What is the maximum possible value of (21 Sin X + 72 Cos X)? 3

| patrol units in each of two 2
babilities of major crimes and
S%and0.612, respectively, and that the
20. Assuming that all crime occur

s are independent of each other, what
urhood on any given day?

LA S =) —

A2
B.5
C.6
D.75
E.

None of the above

The scheduling officer for a local police department is trying to schedule addug
neighbourhoods — southern and northern. She knows that on any given da
minor crimes being committed in the northern neighbourhood were (8
corresponding probabilities in the southern neighbourhood were 0.335
independent of each other and likewise that crime in the two neigh
is the probability that no crime of either type is committed in eitférn

A. 0.069 0
B.0.225
C.0.650

D.0.775 °
E. None of the ahove \
Answer question nos. 16 to 17 based o%@wing information

A man standing on a boat south of\g licht wlise observes his shadow to be 24 meters long, as measured at the sea
fevel. On sailing 300 meters eastygar finds his shadow as 30 meters long, measured in a similar manner. The
height of the man is 6 meters a evel,

The height of the light huu@ve the sea level is: ' 3

A. 90 meters N
B. 94 meters

C. 96 melers
D. 100 metas®
E. 106

What is the'horizontal distance of the man from the light house in the second position? : 2

A, 300 meters
B. 400 meters
C. 500 meters




e

D. 600 meters www.sakshieducation.com
E. None of the above

[ )

I8 A 25 ftlong ladder is placed against the wall with its base 7 ft from the wall. The base of the ladder is drawn out
so that the top comes down by half the distance that the base is drawn out. This distance is in the range:

. None of the above.
19 The domain of the function f(x)= log:{logs(logs(20x-x>-91))} is: 3

A.(7,13)
B.(8,12)

C (7.12) O
D. (12,13)
E. None of the above

20 There are four machines in a factory. At exactly 8 pm, when the mechanic is a@ %ave the factory, he is
informed that two of the four machines are not working properly. The mechani€¥ig hurry, and decides that he
will identify the two faulty machines before going home, and repair t gxt morning. It takes him twenty
minutes to walk to the bus stop. The last bus leaves at 8:32 pm. If it ix minutes to identify whether a
machine is defective or not, and if he decides to check the machines , what is the probability that the

mechanic will be able to catch the last bus? :
&
M

rding to the following rules: 3

L]

monw»
ol SN

21 The football league of a certain country is p

¢ Each team plays exactly one gam: it each of the other teams.
. * The winning team of each gamg i ded 1 point and the losing team gets () point.
e If a match ends in a draw, tNgzams get Y2 point.

Alter the league was over, t were ranked according to the points that they earned at the end of the
tournament. Analysis of the fioi le revealed the following:

e Exactly half ¢ pofnts earned by each team were earned in games against the ten teams which finished
table.

e Each of Oom ten teams earned half of their total points against the other nine teams in the bottom

How many s participated in the league?
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In a city. there is a circutar park. There arse?olt(xrs [n\llﬁsdé} (é"r%t)!% ﬁ,@ mrk, namely - P, Q. R and S. Three paths 2
were constructed which connected the points PQ. RS, and PS. The length of the path PQ is 10 units, and the
length of the path RS is 7 units. Later, the municipal corporation extended the paths PQ and RS past Q and R
respectively. and they meetata point T on the main road outside the park. The path from Q to T measures 8 wnits.,
and it was found that the angle PTS is 60°. Find the area (in square units) enclosed by the paths PT, TS. and PS.

A 3673
B. 54V3
C. 723

D. 90V3

E. None of the above

Answer question nos. 23 — 24 based on the following information.

From a group of 545 contenders, @ party has to select a leader. Even after holding a ¢ ; obmeetings, the
politicians and the general body failed to reach a consensus. [t was then proposed that al tenders be given

a number from 1 o 545. Then they will be asked to stand on a podium in a circulymramgement, and counting
would start from the contender numbered 1. The counting would be done in a clockWise ashion. The rule is that

every alternate contender would be asked 10 Step down as the counting continueg. _w the circle getting smaller
and smaller. till only one person remains standing. Therefore the first pegon e eliminated would be the
contender numbered 2. L SR

Which position should a contender choose if he has 10 be the leade&\ . 5
A3

C

C.195

D. 323

E. 451

One of the contending politicians. Mr. 6 \ Jlvas quite proficient in calculations and could correctly figure 5
out the exact position. He was the | Woccmaining in the circle. Sensing foul play the politicians decided to
repeat the game. However. this 1l teatt of removing every alternate person, they agreed on removing cvery

< were kept intact. Mr. Chanaya did some quick calculations and found

position to become a leader would be 437. What is the right position for

300th person from the circle, Al
bdified rule?

that for a group of 542 T

the whole group of 545 a@ .
s D

B. 194

C.249 : P 2
D. 437

E.S

43 : ;
jttle who is five and half years old has just learnt addition. However. he does not know how to carry. For 2
mble. he can add 14 and 5, but he does not know how to add 14 and 7. How many pairs of consecutive
ers between 1000 and 2000 (both 1000 and 2000 included) can Little Pika add?

D. 258
E. None of the above
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In the country of Twenty. there areWWé{Yy mﬁémt%g Li&ﬂ“@ﬂ»%%ﬂy one direct road between any two 5

cities. No two direct roads have an overlapping road scgment. After the election dates are announced. candidates
from their respective cities start visiting the other cities. Following are the rules that the election commission has
laid down for the candidates:

Each candidate must visit each of the other cities exactly once.

Each candidate must use only the direct roads between two cities for going from one city to another.
The candidate must return o his own city at the end of the campaign.

No direct road between two cities would be used by more than one candidate.

e o & @

The maximum possible number of candidates is

A.S

moo®
Lo~

The micromanometer in a certain factory can measure the pressure inside the gas chambcﬁqml to 999999 3
units. Lately this instrument has not been working properly. The problem with the inst t is that it always
skips the digit 5 and moves directly from 4 to 6. What is the actual pressure i the gas chamber if the
micromanometer displays 0030167

L 3
A. 2201 \O

B. 22()2

C. 2600 \'
D. 2960 C)

E. None of the abave options

Consider a square ABCD of side 60 cm. It contains arcs £ drawn with centres at A and D respectively. 3§
A circle is drawn such that it is tangent to side AB, and y BD and AC. What is the radius of the circle?

A.9¢em A @
B. 1) em \
C.12cm Q

D. 15 em 6

E. None of the above

There are 240 second year studengs -School. The Finance area offers 3 electives in the second year. These 2
are Financial Derivatives, Beha inance, and Security Analysis. Four students have taken all the three
electives. and 48 students n Financial Derivatives. There are twice as many students who study
Financial Derivatives and S % Analysis but not Behavioural Finance, as those who study both Financial
Derivatives and Behaviolgal Einance but not Security Analysis. and 4 times as many who study all the three. 124
students study Secugity ysis. There are 59 students who could not muster courage to take up any of these
subjects. The grou dents who study both Financial Derivatives and Security Analysis but not Behavioural
Finance, is exac same as the group made up of students who study both Behavioural Finance and Security

( students study Behavioural Finance only?

- None of the above options

In a plane rectangular coordinate system, points L, M. N and O are represented by the coordinates (-5, 0). (1, - 2

8
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1. (0. 5), and (-1, 5) e W, sakshieducation:Gomume plune. The minimum value of PL +
PM + PN + PO is

A. 1 ++37
B.5v2 +2V10
C. V&1 + V37
D.wﬁﬁ+l

E. None of the above

[nn 2 bank the account numbers are all 8 digit numbers, and they all start with the ﬁigﬁ 2. So, an account number 3

can be represented as 2X;X;X3XgXsXeX7. An account number is considered 1O be a ‘magic’ number if xyXa%3 1S
exactly the same as XaXsXg O X5XgX7 OF both. x, can take values from 0 to 9. but 2 followed by seven Os is not a
valid account number. What is the maximum possible number of customers having a ‘magic’ ac t number?

A. 9989

B. 19980 ‘ ; 0
C. 19989 '

D. 19999 ‘ 0

E. 19990 &1

Sers are 20, 4. 10, 4, 8, and 4. If the
ng order, they form an arithmetic

In a list of 7 integers, one integer. denoted as X is unknown. The other si
mean. median, and mode of these seven integers are arranged i i

progression. The sum of all possible values of X is \\
A. 26 @b

B. 32 O

C. 34

= N

E. 40

spreadsheet was programmed to ¢ ul, rage after cach score was entered. Prof. Bmentered the mafks
in a random order and noticed that ai nark was entered, the average was always an integer. In ascending
order. the marks of the students 76. 80. 82 and 91. What were the fourth and fifth marks that Prof. Bee

entered?
A. 71 and 82 @k

Prof. Bee noticed someihing peculiar wﬁqle eding the quiz marks of his five students into a spr t. The

B. 71land 76

C. 71 and 80 :
D. 76 and 80

E. 91 and 80 04

Rakhal king for a field where he can graze his cow. He finds a local farmer, Gopal, who agrees 10 rent his
al for T 1000 a year. Rakhal finds a post in the field and ties his cow to the post with.a 25 feet rope.
.ome months, Gopal tells Rakhal that he will build a shed with four walls on the field with the post as one
-orner posts. The shed would be 15 feet by 10 feet. Rakhal agrees but he realizes that this arrangement
wolld reduce the available area for grazing. What should be the modified rent to compensate for this loss of
grazing area if Rakhal has to keep the cow tied to the same post with the same rope?

A TB00
B. T80
C. 888
D. %930




37

E. None of the above www.sakshieducation.com

Question Nos. 35 — 36 are followed by two statements labelled as I and IL Decide if these statements are

sufficient to conclusively answer the question. Choose the appropriate answer from the options given
below:

A. Statement I alone is sufficient 1o answer the question.

B. Statement II alone is sufficient to answer the question,

C. Statement I and Statement 11 together are sufficient,
question.

D. Either Statement I or Statement I1 alone is sufficient to answer the question.,

E. Neither Statement I nor Statement Il is necessary to answer the question.

but neither of the two alone is sufficient to answer the

Let PQRS be a quadrilateral. Two circles O1 and O2 are inscribed in triangles PQR and PSR respecti
Ol touches PR at M and circle 02 touches PR at N. Find the length of MN.,

L. A circle is inscribed in the quadrilateral PQRS. ' O

. Circle 5

IL. The radii of the circles O1 and 02 are 5 and 6 units respectively.

Given below is an equation where the letters represent digits. O 3
2

(PQ). (RQ) = XXX. Determine the sum of P + Q+R+X. Q

I Xe=9.

I1. The digits are unique. B

Answer question nos. 37 — 39 based on the following information:

Mulchand Textiles produces a single product of only one qualityf w:

roof synthetic fabric. Mr.Sharma, the
cost accountant of Mulchand Textiles, estimated the costs of E!
1

Textiles for different possible monthly
r crashed, and Mr. Sharma lost all data.
s and diagrams. The table titled “Variable Cost
abgtir and material costs.

output levels. Before he could tabulate his estimates
Fortunately he had some printouts of some incomplete tablé
Estimates of Mulchand Textiles™ provided the estimates.o

Variable Cost E s’of Mulchand Textiles
Rabour cost X) | Material cost (3)
21500 11050
41500 22000
60000 33000
78000 44000
95000 54750
111000 65700
133000 76650
160000 88000

aterial costs Mulchand Textiles incurs administrative costs of Z 40.000 per month, and
. Sharma recalled that estimate data of variable electricity cost had certain peculiar
characteristi lues at every 25000 sq ft of output increased in geometric progression till 150000 sq ft of
output, afteraghich values increased in arithmetic progression for every 25000 sq ft of output. Mr. Sharma
remembered that the electricity cost was estimated to be 3800 for 25000 square feet of output, T 5700 for 50000
square feet of output and T 38856.50 for 175000 square feet of output.

electricity cosl.

The estimated cost per square feet of output is least for;

10
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A. 75000 square feet output www.sakshieducation.com

B. 100000 square feet output
C. 125000 square feet output
D. 150000 square feet output
E. 175000 square feet output

38 The estimated material cost given in the table titled “Variable Cost Estimates of Mulchand Textiles™ included the 3

cost of material that gets spoiled in the production process. Mr. Sharma decomposed the estimated material cost
into material spoilage cost and material usage cost, but he lost the data when his computer crashed. When he saw
the following line diagram, he recalled that he measured the estimate of material spoilage cost per square feet of
output on the y-axis and monthly output on the x-axis. t )

= iy =

el

0.041

0.04 -

0.039

0.038

0.037 Q

0.036

Estimated material usage cost per square feet of 0 10

_ wput and then increases monotonically.
ignthly output. remains constant between 50000 and
100000, decreases between 100G 5000. remains constant between 125000 and 175000
and finally increases between 50 d 200000 of monthly output.

C.  remains constant for all leys#s ofgponthly output. _
D. increases up to 30000 & eet of monthly output, remains constant between 50000 and

100000, increases be 000 and 125000, remains constant between 125000 and 175000

and finally decreagéShetyeen 175000 and 200000 of monthly output.
vquare feet of monthly output and then decreases monotonically.

E.  increases up LD;l

39  Mr. Sharma s@me printouts of line diagrams. The axes of the graphs were not marked. but Mr. Sharma
remember measured monthly output on the x-axis. Which of the following diagrams would represent

the estimats ofelectricity cost per square feet of output versus monthly output?

A, decreases up to 125000 square feet of
B. decreases up to 50000 square féet
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Answer question nos. 40 - 43 based on the following information:

In the beginning of the year 2010, Mr. Sanyal had the option to invest T 00QOE

assets — gold, silver, US bonds. EU bonds, UK bonds and Japanese bonds
must first convert his investible fund into US Dollars at the ongoing 4%
invest in EU bonds or UK bonds or Japanese bonds one must first
Pounds and Japanese Yen respectively at the ongoing exchange {fates
heginning of every month. Bullion prices and exchange rates
remained unchanged throughout the month. Refer to the tut

for the relevant data,

gne or more of the following
er to invest in US bonds, one
rate. Similarly. if one wants to
s investible fund into Euro, British
ansactions were allowed only in the

wted at the beginning of every month and
€ ullion Prices and Exchange Rates in 20107

Bullion Pricez and/E Rates in 2010

Date Gold prices | Silv US$ € £ ¥

2/ 10 grams () gr8ms LAY T/e 2 /e I
January 1 20000 300 40 60 70 0.5
February 1 302 41 61.5 71 0.51
March | 307 41 62 71 0.52
April 1 310 42 62 71 0.52
May | 312 42 62.5 72 0.53
Jupe | 318 42 62.5 72 0.54
July 1 330 44 63 73 0.55
Augus 335 45 63 73| 055
340 47 64 74 0.57
342 49 65 74 0.58
20950 345 50 65 74.5 0.59
December | 21000 350 50 65 15 0.6

Interest rates on US. EU. UK and Japanese bonds are 10%, 20%, 15% and 5% respectively.

40 Mr. Sanyal invested his entire fund in gold. US bonds and EU bonds in January 2010. He liquefied his assets on 3
31st August 2010 and gained 13% on his investments. If instead he had held his assets for an additional month he

12
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41

42

43

keeping at least 209% of the initia

L

ions is correct?
would have gained 16. E%lewh §fa rl1(t’:s fﬁl,low tﬂ; é)gillncr;vh 15: é%rlf?ft‘
A, Mr. Sanyal invested less than 40% in gold and more than 40% in EU bonds.
B. Mr. Sanyal invested less than 40% in each of gold and US bonds.
C. Mr. Sanyal invested less than 40% in gold, and less than 25% in US bonds.
D. Mr. Sanyal invested more than 40% in gold. less than 25% in EU bonds.
E. Mr. Sanyal invested more than 40% in each of US bonds and EU bonds.

At the beginning of every month, by sheer luck, Mr. Sanyal managed to correctly guess the asset that gave
maximum return during that month and invested accordingly. If he liquefied his assets on 31st December 2010,
how much was the percentage gain from his investments?

A. 34.64%
B. 46.71%
C.47.5%

D. 49.15%
E. 49.96%

1alf of his investible fund
o interest per annum. Al the
hegmnmg of every quarter he hquef"ed hi’i assus to create his mvestlbl'
invested half of his fund in the bullion that gave maximum return in the,prey qua:n‘rex‘ a}:ld tﬁe mher ha]f in the
foreign bond that gave maximum return in the previous quarteraHo @ . If in any quarter none of the foreign
bonds gave a better return than the fixed deposit of his Indian hankylesnvested half of his investible fund in the
fixed deposit for the next quarter. On 31st December 2010 P liquefied his assets and realized that all of
the following options are true except:

imed an additional ¥ 118395,

A. By investing the entire amount in US bonds, he woul -
gained an additional ¥ 65035.

would have gained an additional ¥ 38395.
is Indian bank he would have gained an additional ¥38395.

Advisors were asked to prepare an mv’e\ t Strategy that involved US Bonds, EU Bonds and Japanese Bonds,
| q

D. By investing the entire amount in Japanese
E. By investing the entire amount in fixed

B. By investing the entire amount in UK bonds, he we :
C. By investing the entire amount in EU bnnds,a-- uldhhave gained an additional T 65035,

cach of these assets for the entire year, and allowing exactly four
additional transactions in the cot the year. On 2nd January 2011, while comparing five different
recommendations that he had rg€eiyeddrom his financial advisors in the beginning of 2010, Mr. Sanyal referred

to the table “Bullion Prices afid Txgiange Rates in 2010™. One transaction is defi ned as the buying or selling of
an asset. Which of’the reco dation out of the following was the best one?

A. Two additional 5 s each during the month of June and November.

B. Two additional :tions each during the month of June and October.

C. Two additiogal ctions each during the month of May and June.

D. Two additiqdl ti¥nsactions each during the month of March and November.
E. Two agdth transactions each during the month of March and October.

13




_deliver just-in-time (or on demand) a customer orde

Section B — Verbal Ability and Logical Reasoning
ww.sakshi ion.com
Read the following discussion / pas‘svz\ilge- an gro%deeag Ligg—:[x&r;m answer for the questions 44
through 47 that follow.

Of the several features of the Toyota Production System that have been widely studied, most important is
the mode of governance of the shop-floor at Toyota. Work and inter-relations between workers are highly
scripted in extremely detailed ‘operating procedures’ that have to be followed rigidly, without any
deviation at Toyota. Despite such rule-bound rigidity. however, Toyota does not become a ‘command-
control system”. It is able to retain the character of a learning organization.

In fact. many observers characterize it as a community of scientists carrying oul several small experiments
simultaneously. The design of the operating procedure is the key. Every principle must find an expression
in the operating procedure — that is how it has an effect in the domain of action. Workers on the shop®
floor, often in teams. design the ‘operating procedure’ jointly with the supervisor through a serigé
hypothesis that are proposed and validated or refuted through experiments in action. The rigid and deta
‘operating procedure’ specification throws up problems of the very minute kind; while its resolufion
to a reframing of the procedure and specifications. This inter-temporal change (or flexi e
specification (or operating procedure) is done at the lowest level of the organization; i.e. clo@ the site

—

standardized across the organization. It is quite common to find differenf® rms in contiguous
assembly lines. because each might have faced a different set of problems afid Sed different counter-
measures to tackle it. Design of the coordinating process that essentiallysimpeses the discipline that is
required in large-scale complex manufacturing systems is therefore ¢ @ ized to variations in man-
machine context of the site of action. It evolves through numerousf{poin{$*6f negotiation throughout the

organization. It implies then that the higher levels of the hicrar oi'exercise the power of the fiat in
ac

of action. !
2
One implication of this arrangement is that system design can no longer h@ ally optimal and

setting work rules, for such work rules are no longer a standdgd ss the whole organization.

%' phy that underlies its system designing
ota embraces the following — ‘the ability to
exact specification demanded. in a batch size
of one (and hence an infinite proliferation o riaa(s» models and specifications), defect-free. without
wastage of material. labour, energy or mouen safe and (physically and emotionally) fulfilling
production environment”. Tt did not embrg c%:oncept of a standardized product that can be cheap by
giving up variations. Preserving cons n ¥Hricly was seen. in fact, as one mode of serving society. It
is interesting to note that the anic% he Toyota philosophy was made around roughly the same

It might be interesting to go through the basic Toyot
practices. The notion of the ideal production system

time that the Fordist system was es g itself in the US automotive industry.

What can be best defended as tl t which Toyota model of production leverages to give the vast range
of models in a defect-free faghion?

acturing systems

company’s management

C. Loans taken ba pany from banks and financial institutions
D. Ability of gyotker$®o evolve solutions to problems

E. Skill an a of the top leadership

A. Large scale complegs
B. Intellectual capi

Which of the following can be best defended as a pre-condition for the Toyota type of production system
o work?

A. Existence of workers™ union to protect worker’s rights
B. Existence of powerful management to create unique strategies

14
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C. Cordial worker-management relations to have industrial peace

D. High management invoanww 'sakshieduca wﬁﬁwmrkers

E. Management’s faith in workers™ abilities to solve problems in a rigorous manner
46 Based on the above passage. which of the following statements is best justified? 3

A, Waorkers have significant control rights over the design of work rules that allow worker skills and
ingenuity to continuously search for novel micro-solutions using information that often sticks to
the local micro-context of the work. ;

B.  Managers have significant control rights over the design of work rules that allow worker skills
and ingenuity to continuously search for novel micro-selutions around micro-information that
often sticks to the local micro-context of the work.

C. Work rules enable the workers to report problems faced at the shop-floor to specialised
personnel who set up experiments to replicate the conditions. This allows the specialists to come
up with solutions that are rigorously tested in experimental conditions.

D. Toyota as an organization has extensive networks with different specialists w re subject
matter experts in different fields. These networks allow problems to be resolved imthe most
advanced manner, enabling Toyota to beat the competition.

E. Toyota’s products are extensively tested by customers in simulated co
released to the market. This extensive testing is done by workers who d

of scientists experimenting to develop the most advanced product. Q

*
47  What could be the best defence of the “different work norms in cenli_a. sembly lines™? 4

little sense, making the company similar to Ford.

B. Proscribing standardised work norms would pge¥en
problem solving ability in resolving differen k@)
difficult to attain the Toyota philosophy

C.  If similarities were imposed, rights of
made very little sense.

D. Standardisation of work rules ‘.is Sfflicd when the investments in plants are huge and

Id be detrimental to the efficiency of the plants. Since

experimenting with the work s
Toyota's plants typically i m\v investments, it could tolerate non standards work rules.
1o

A.  Without such variations allowed, rights of manager (o 2&\m‘kqulcs would have made very

Joyota from benefiting from workers®
f problems that emerge, thus making it

waad0 experiment with work-rules would have

E.  With standardization of p right of the workers in design of work-rules made sense.
Since Toyota's manufa cesses were non- standardised, the different work norms did
not make sense.

48 The author has :-mpositiun to the best of his - yet listen to it with a sympathetic R
souls, and judge it.

t best fill the blanks in the above sentence would be:

ts, mind, distinguished
, intellect. mind, noble

ed, mind, intellect. noble
fined, ingenuity. heart, righteous
ned, thoughts, heart. righteous

49  There is much difficulty getting this place and it is not possible to reach ____ without the grace of 1
the lord.

15
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The option that best fill the blank\.jvicv t\ll‘ve.gbé)lgssﬁ?té&cﬁ Eé‘lif)'r’f.‘com

ALin; to; it
B. to; to; it
C. to: in; it
D. in; in: in
E. in;'to; to

You have a doubt. why not go and veri fy? I shall be waiting in the shade this banyan tree till you
come back me,

The option that best fill the blanks in the above sentence would be:
AL if: under; on

B. as; of: for

C. as: of; at

D. for: under: at
E.if. of: 1o O

Pick the odd one out: C)
*

A. wisdom; folly

B. friendship; enmity O

C. often; seldom b
D. loyalty: treachery \\

E. devotion: loathing

Analyse the following passage and provide appropriate a 5 £ € questions 52 through 55 that

follow. 0
We can answer Fermi's Paradox in two ways. Perha Q’mm science over-estimates the likelihood of

extraterrestrial intelligence evolving. Or. perhaps, gvolve nical intelligence has some deep tendency to be
self-limiting, even self-exterminating. After Hiroshiig: “soMme suggested that any aliens bright enough to make
colonizing space ships would be bright eno thermonuclear bombs, and would use them on each

other sooner or later.
I suggest a different, even darker so uti % Paradox. Basically, I think the aliens forget to send radio
signals or colonize space because they usy with runaway consumerism and virtual-reality narcissism.
Once they turn inwards to chase thejpShi

The fundamental problem is thg an Ived mind must pay attention to indirect cues of biological fitness,
rather than tracking fitness it;‘%ais was a key insight of evolutionary psychology in the early 1990s;
although evolution favours brainsefat tend to maximize fitness (as measured by numbers of great-grandkids),
no brain has capacity en o & so under every possible circumstance. As a result, brains must evolve short-
cuts: fitness-promoti
conditions. Techne
even better at
effects.

Fitness-fak chnology tends to evolve much faster than our psychological resistance to it. With the
invention of Xbox 360, people would rather play a high-resolution virtual ape in Peter Jackson's King Kong
than be a perfect-resolution real human. Teens today must find their way through a carnival of addictively
fitness-faking entertainment products. The traditional staples of physical, mental and social development—
athletics. homework, dating—are neglected, The few young people with the self-control to pursue the
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meritocratic path often get distracted at the last minute.

WWW.S [ .
Around 1900, most inventions conccrneg psysalt%ldry- .r?tiﬁ)ﬂnc.%? focus shifted to virtual entertainment.

Freud's pleasure principle triumphs over the reality principle. Today we narrow-cast human-interest stories to
each other. rather than broadcasting messages of universal peace and progress to other star systems.

Maybe the bright aliens did the same. T suspect that a certain period of fitness-faking narcissism is inevitable
after any intelligent life evolves. This is the Great Temptation for any technological species—to shape their
subjective reality to provide the cues of survival and reproductive success without the substance. Most bright
alien species probably go extinct gradually. allocating more time and resources to their pleasures, and less to
their children.

Heritable variation in personality might allow some lineages to resist the Great Temptation and last longer.
Some individuals and families may start with an “irrational” Luddite abhorrence of entertainment technology,
and they may evolve ever more self-control, conscientiousness and pragmatism by combining the family values
of the religious right with the sustainability values of the Greenpeace. They wait patiently for 0 itness-faking
narcissism to go extinet. Those practical-minded breeders will inherit the Earth as like-min

inherited a few other planets. When they finally achieve contact, it will not be a meeting -readers and
game-players. It will be a meeting of dead-serious super-parents who congratulate eac n surviving not
just the Bomb, but the Xbox.

Among the following options, which one represents the most important concern rais@he passage? 1
A. Extraterrestrial life and its impact on human beings. *

B. Lack of interest in developing proper fitness.

C. Short-term pleasure seeking behaviour. .

D. Technological advancement and extinction of intelligence.
E. Tendency of brain to develop shortcuts.

Which among the following would be the best possible explfifatioador the lack of contact between human. 1

beings and aliens? 0

A. Overestimation of the technological capability

B. Genetic variation in aliens” personality is 1 -

C. Thermonuclear bombs might have des?rx IBaliens.
R

D. Colonisation of space is impossible g o _
E. Aliens have become self centred Ieagure seeking.

To which of the following si

uld the author of the passage agree the most? 3

tfare for turf protection and expansion, co-exists in all technological

118 B proliferation of fitness-faking technologies. '

B. The technology togffodies’fitness-faking gadgets is guided by the government’s desire to control the minds
of citizens and keep'citzens away from engaging in trouble-making activities.

| avg the most adyanced technology often are the ones that are at the forefront of colonial

wars.

D. Wars a nial conquest engaged in by the European nations after the renaissance would not have

- d fitness-faking gadgets and consumerism existed in those countries during those times.
oh for colonies is undertaken 5y all the countries. irrespective of their technological expansion. This
ial expansion is guided more by need for adventure than for resources.

A. Violent crime, includingsga

I, Violent crime, including gang warfare for trf protection and expansion, co-exists in all technological
advanced societies in spite of proliferation of fitness-faking technologies.
1. The technology to produce fitness-faking gadgets is guided by the government’s desire to control the minds

17

Which of the following statements, if true, challenges the ideas presented in the passage the most? 3 ‘




of citizens and keep cuzemaww isakshieducation.comciviies.

HI: Countries that have the most advanced technology often are the ones that are at the forefront of
preparedness for wars.

IV The era of colonial eXxpansion that was engaged in by the European nations afier the renaissance would had
never taken place had the technology to produce fitness-faking gadgets existed during those times.

V. Teenagers having access to technology, engage in more socializing away from parental supervision than
those who do not have aceess to such technology.

56 . Nature is and unchangeable, and it is as to whether its reasons and 1

! are _ lo:man or not, C)
The option that best fill the blanks in the above sentence would be:

2
A. relentless. indifferent. actions, unders:a:ﬁd&lilé' Q
B. persistent. heartless, actions. comprehensible . %
C. inexorable, apathetic...aclivities. explicable \
D. harsh, indifferent, actions. understandable \
E. inescapable, unconcemed. activities. intelligible

57 Impressions are direct, vivid, and forceful product
these original impressions. _
Assuming the a&we statement is ime, 'whi-':_h of the
I. Every impression leads to an idea. !
IL. Ideas must follow an antecedent impressit)n? @

I1I. The colour of the 2011 XAT test bm% front of a candidate is an impression to her, whereas the
idea.

é@eriwce: ideas are merely fecble copies of 3

logically follow from it?

impressions from which this idea wisifenivod.

A& 6
B.IT& 111
CUH&IV .

D I I & 1V
ELILTI& IV,

memory of the colour of her television seis
. IV_If one was interested in origil\ul" ‘h:-. I of the colour of a television set, then one need to understand the

58 Media are ni i ﬁassive channels of information. Not only do they supply the stuff of thought, but they also 1
58 of thought. And what the Internet seems to be doing is chipping away our capacity for

Which of the following, if true, would most strengthen the argument presented above?

A. Nietzsche was forced to use a typewriter when he started losing his vision. After he mastered the machine.
he could type with his eyes closed. It was later found that under the effect of the machine, Nictzsche's prose

18
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60

61

“chanzed from arsumens wwwisakshieducationicom e 1 e style”.
een that

B. One of the effects of the timekeeping instruments has
activities based on the clock and not based on our senses.

we have started deciding on our daily

C. Studies have shown that the essay writing skills of an average 15/- 20 year old. who spends a lot of time
browsing the Internet, is comparable to what it was among the average 15-20 year old. throughout the

19805 and the 1990s.
D. A recent study has shown that the number of people w
increased in the last five years.

ho fall asleep while reading a printed book has

E. The ability of the younger judges, who have grown up with ready access to Internet, to judge complex and
intricate cases. has, on an average, become better as compared to what it was for judges of comparable age

profile during the 1920s.

Which of the following, if true, would most weaken the argument presented in the previous guestion? 1

A. Nietzsche was forced to use a typewriter when he started

he could type with his eyes closed. It was later found that under the effect of the ma A
“changed from arguments 10 aphorisms, from thoughts to puns, from rhetoric 10 L S
B. One of the effects of the timekeeping instruments has been that we have stirtedgdeci

activities based on the clock and not based on our senses.

the machine,
ielzsche’s prose

tyle™,

ding on our daily

losing his vision. After he m:

C. Studies have shown that the essay writing skills of an average 15-20 Q{ﬂ& who spends a lot of time

browsing the Internet, is comparable to what it was among the a

1980s and the 1990s.
D. A recent study has shown that the number of people w
increased in the last five years.

. | 320 year old. throughout the

* . ~
while reading a printed book has

¢ K "
E. The ability of the younger judges, who have grown up wit% cess 10 Internet, to judge complex and

intricate cases, has, on an average, become better as €0

Randomness has to be dealt with successfully t
effectively with randomness, one must acknowle

The above statements implies the foliowin@

 J
A. Randomness can be dealt with effectiv

D. Everyone lives in a random w

what it was during the 1920s.

n@hmer control over one's life. Before one can deal 3

s tence.

be able to deal with it effectively.

B. If one acknowledges the existen ness. one will
C. One can deal effectively with % est if and only if one acknowledges its existence.
he exfs

E. If one does not acknowl]

¢ others which divided us,
1¢ with the killers

Perhaps this war will paSs

tence of randomness, one cannot deal with it effectively.

leaving us dead, killiffg us
but the shame of this ufs its burning fingers to our faces.

Who will erase (Re ruthlessness hidden in innocent blood?

Which of fheFallowing is certainly not implied in the above verse?

Iso get Killed in war.

Willbis war is especially ruthless.
D. This war is shameful to the entire humanity.
E. None can obliterate the ruthlessness of this war.

nity gets divided by war and reunites afterwards in peace.

Travelling is my hobby. Today in the Himalayas, as I drag my feet through the . I cannot but think 2

of the same time last year when T was negotiating the thick

of the Ganges delta or for that matter

the time T spent with my children about in the waters of the Arabian Sea.

19
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The option that best fill the blaW%R%fngQmOm

A, slush. sludge, sloshing
B. sludge. slosh, slushing
C. slush, slosh, sludging

D. slosh, sludge, slushing
E. sludge, slush, sloshing

63 In spite of being perceived as i by all, the club members decided to Arun, a skinny teenage 3
with prominent » as the member of the year. so that the whole affair would be to
Arun’s father who was recuperating after a serious illness.

The option that best fill the blanks in the above sentence would be:

A. felon, felicitate, freckles, febrile
B. feral, facilitate, feckless, felicific

C. federate, facilitate, freckles, feral
D. febrile, felicitate, feckless. feral
E. feckless, felicitate, freckles, felicific C)
64  Few sentences are given below continuouslj. Identify the best sequence of pu tigns among the given 3
options. (The rule of capitalization at the beginning of sentences has been i gnerea@passage given below).

Note: the arrows in the options indicate text that would be within the punct’uat'

a persons frames of perception and action are narrow in early sta evelopmeut focused on social
membership and technical competence the early life of organizationg & @ S focused on survival and efficiency
only later and rarely emphasizing process of learning and develogmeng Kowever in later stages both individual
and organization become more concerned with the learning p: SuisClf the way the perceptions and practices
are articulated and revised in interactions and how more 6@& engaged in mutual learning and inquiry

:
AT .5, 5,5,

65  Choose the odd one: 3
A. Water i Dirty gC
B. Battery i 5 s
C. Wood
D. Juice
E. Rain
66 Choose th one: 3
A. The ballod® goes up : Spot fixing scandal
B. In the altogether : Bath tub
C. The halcyon days ? Childhood
D. The real McCoy : Darjeeling Tea

E. Throw down the gauntlet - UN peace keeping force




67

68

69

-

Read the following sentencey and choosg the option E‘é‘i."d‘ﬁ’é&ﬁ%‘“m“‘ a logical order.

1. In law a fiduciary mchwdual is someone who is entrusted with the power to act on behalf of nnd for the
bcrm,ﬁl of another.

2. Following the weight of corporate law and legal precedent, the director primacy rﬂnde} positions directors as
autonomous fiduciaries, not agents.
3. The term fiduciary derives from the Latin fiducia, or trust. and the fiduciary is cxpuﬁéd o act in good faith
and honesty for the beneficiary's interests.
4. A person who accepts the role of fiduciary in law must single-mindedly pursue the interests of his or her
beneficiary. in this case the corporation, even when the latter cannot monitor or tmt tﬁe fiduciary’s
behaviour.

m 90w
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Read the sentences and choosethnopﬁon thnt hﬁtw them in a logical u@

a. Generally, it is unusual for a new prob}éht N

same time some international organization being - I¢

b. International society has. in spite. of the dwer&ity of culture ar

drawn closer together and become more unified.

c. Despite the fears and concerns of some governments thaginteg
fast and that they are a burden on their exchequers, theyfa; pmhfaa > at a considerable rate.

d. People and their governments now look far beyondgftioga¥ frontiers and fee] a common responsibility

d@mq that may subsist within smaller groups of

for the major problems of the world and for lessgrgro : nay subsist s
states.

¢. More recently in the 1990s the proble mational trade, which was growing increasingly
complex. led to the development of the W Q '

f. For instance. concern with the instabj &a Bmmodities markets led to the establishment in the 1980s
of the Common Fund for anme\' d the competition for the newly discovered wealth of the
¢

y systems, been progressively

anizations are increasing 0o

creation of the ISA under the Law of the Sea Convention of

mternational seabed area res i
1982, based on the concept. %ﬂmun heritage of mankind".
A abgedfe é
B.bed.c.fa %
C.cafledb
D. cafebd @
E. d.c.ab.fe 6

n $ir warfare tasks and stressors was being gathered and scenarios were being developed. a
ed to identify a test bed simulation for air warfare teams. To maintain experimental control.
by the designers that choosing a low physical fidelity simulation was acceptable as long as
ty in 4 team simulation was maintained through subjecting soldiers to pressure situations in a

parallel effi
it was de

Which of the following statements, if true, weakens the logic of the above passage?

i. A number of studies have shown that high levels of physical stress lead to a weakening of the decision-
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70

71

aking capabilities of humaypnan: sakshieducation.com

it. It has been convincingly demonstrated by various studies that human beings by nature are not designed to
adapt to high levels of mental stress

iii. Numerous studies have shown that simulated environments can be designed to be good substitutes for real-
life combat situations

iv. Studies have shown that simulated exercises for armed forces personnel have tended to induce a systematic
type of “correct” and common behaviour among the trainces

V. Officers. when short-listing soldiers for eritical operations, pick up battle-hardened soldiers rather than
these who have been trained through simulations.

A.iandii

B. ii and iii
C.iandiv

D. i, i, iv. and v
E. i, iii. ivand v

Answer Questions 70-71 on the basis of the paragraph below O

We are not only afraid of being in the dark; we are also suspicious of being kept in the Q«V& often feel that
the universe has a hidden order that we cannot quite comprehend. In ancient tim . Wais order was attributed to
the gods—omnipotent beings who controlled humans® fates. Greek myths in_pisgcultr portrayed humans as
pawns in the great games played by the gods. More recently, there are stg;pi “global conspiracies. These
conspiracies are cited for events that are too important to be random, *x er describe them as “Acts of
God.” so they must be the work ofuthgr;pwpleé-—penp!e who are hid& influence over us, covering up
their involvement. They are kﬂepmgﬂ:{emstpf us in the dark. Amo ents attributed to these people are
political assassinations and UFO sightings. | “xam ; S inute detail results in a long list of
“coincidences” which, in the minds of the conspi y buffs, areQoo fumerous to be truly random. There must
be a central planner who is at the hub of a sinister form of orde ne admits (o the conspiracy, so there must
be a cover-up. Better 1o think that we are all being kept by sinister forces than to admit that there is
no order.

Which of the following statements, if true, won l@eﬂ the underlying logic of the above passage?
notion. It more often than not leads to creation of theories
theory, the more prevalent it becomes.

omness than by well-defined natural processes which are subjected
e and space.

of conspiracies the conspiracy buffs are extrapolating from a very

i. The human need for order is a highly ex
about the universe. The more sensati
ii. The universe is less guided by purgr.
to randomness at varying intery
iii. To strengthen their case for

the universe,

AL i and i
B. i. itand iv
C. 1. iii anc
D. i, ivan
E i, ivand v

Which of the following statements would, if true, strengthen the case for belief in sinister forces and
conspiracies being at work in the above paragraph?

(]




i. Though science has progréﬂw w.sakshieducation:com it is still unable to explain/account for
more than 80% of the phenomena in the universe.

ii. There is now the existence of photographic evidence of presence of UFOs and a growing number of parallel
studies showing that the human mind can easily be manipulated to do someone else’s will through various
events that manipulate the ‘perceived reality’.

iii. The fear of our actions and thoughts being controlled by someone else has intensified with the widespread
populagity of the depiction of its gory outcomes by different novelists and movie makers.

iv. There is a strong movement 10 reintroduce the teachings of the biblical evolutionary process and the
presence of God in schools around the world. '

v. The Darwinian study of evolution of species, the cornerstone of beliefs in fathomable randomness of the
workings of the universe has come under a scathing attack for its inaccurate depiction of the causes and
process of evolution.

A.iandiv
B.iand v

C. ii,iti and v

D.i. iiand v

E. ii. iii, and iv Q

is at Oce a simple as well as an

3 a8 psychologists bel ieved that
sarrot, would be sufficient to goad

The motivation of human beings towards their work is a subject matter th
extremely complicated matter. For a long time, economists. sociologists, a8
a carrot and stick approach. with monetary incentives playing the role oFlic
employees towards achieving higher levels of performance. @ a number of recent studies and
observations. especially dealing with the open source revoluf\w acing on the table strong evidence
suggesting that monetary incentives are only one part of the gfitig Sk of motivation throughmemuves Ina
study conducted by a group of researchers at MIT, it was & at monetary incentives work well only in
respect of tasks requiring mechanical skills i.e. those requiring much use of higher level cognitive
abilities (such as memorizing or problem solvin wet? their study showed that setting high monetary
incentives for tasks requiring cognitive abilities Jikely than not to produce adverse outcomes. Since
this result flew straight in the face of the wid ed body of knowledge on employee motivation. they
conducted multiple experiments in differe d countries to ensure that it was not a one-off result. The
findings were the same in all repetitidas of Uik experiment. These studies appear 1o suggest that monetary
incentives need to be provided on subh T extent as to take the minds of employee off the issue of money
and focus on other issues that are ary to get the job done right. For instance, some experiments have
shown that greater autonom :

t (and bosses) is
successful in driving the fi

S ) of employees working in cognitive skill intensive jobs.
Identify the statemenf{s)tha is (are) logically consistent with the content of the paragraph?

i.'fﬁelcarr'ot-stic@ach essentially requires the use of rewards to get more of a desired behaviour whereas

penalties 18ad t% {reased undesirable behaviour. P
ii. Expendf§isfime and effort on the design of monetary incentives is a wasteful exercise.
iii. Thebthd by the group of MIT researchers was a flawed exercise from the start.

ppears to be a need to reorient the existing paradigm prevalent in incentive design.

¢ the process of designing incentives. one should clearly delineate activities into those requiring
rechanical skills and those requiring higher-level cognitive skills and design with separate sets of
hcentives and penalties for each.

A.iandiv
B.iand v

C. ii and iii
D.iiand iv
E.ivand v




73

74

v

Answer questions 73-74 on the basis of the i i n two friends, Paradox (P) and
Herodox (H) www. SakSRiBauBS o coimee

P: The human body is but the tomb of the soul and the visible world of matter is appearance that must be
overcome if we are to know reality. The former is an integral part of “being”, that which can neither come into
existence nor cease 1o exist for it always is. Being is unmoved and undisturbed, Motion and disturbance belong
to the realm of “becoming”, the changing world of unreality rather than of “being™ in which true reality resides.
Further, motion & change by belonging to the realm of “becoming™ by having no separate existence of their
own are logically inconsistent with reality and hence, unworthy of serious study.

H: All things are in a state of perpetual flux. Permanence, and by extension, the concept of “being™ is only an
illusion. This change and continyal transformation, through an often disorderly process of conflict and survival

of the fittest, is the underlying principle at work in the universe. It is from this principle that all th
into existence, and forms the basis for the morals and governance patterns that attempt to prese

of being.
il. The activities of day to day life are concerned with the unreal part q h stence and hence, should

not be subject to moral standards.

1ii. Maintaining a balance among the various constituents of society is c@m the well-being and the
continuing existence of the soul.

iv. Conflicts and the coming of spontaneous order do not have erlying causes that are relevant for
study as the notion of perpetual flux itself is erroneous.

v. The real is and cannot be non-existent. Further. reality is o ique.

L. A fly travelling on a flying arrow perceives it to be at rest. ‘Therefore the ﬂ-yinvv belongs to the realm

A.ionly

B.ii and iv

C.ivand v @ @
D. i. ii, and iii \

E.iiv, and v Q
Which of the following statements q: @mm an implication of Herodox’s ideas?

ss on maintaining and developing the purity of the human soul are
tion.

A. Religion and other approaches
subjects that do not merit seri

B. The setting of moral stan odes of governance have to be more procedure-oriented with a focus on
the way humans conduct t Ives in their interactions with each other.

C. Maintaining a balance etwgen various constituents of the society and conflict prevention is essential (o the
maintenance of soci er and a pre-requisite for governance.

D. As the real worl t to the existence of human beings is in a state of perpetual flux, attempting to
study the sam systematic manner would be meaningful despite reality itself havin 2 changed by then.

iS no of time-space-invariant reality. There can be numerous realities both across times and

across hdmga cultures & civilizations.

Answer Questions 75-77 on the basis of the information below.

Five reviews of the recently published novel, Caught in a Blizzard, are reproduced below. The reviews and the
reviewers are identified as indicated by the letters.




This novel can change your life — for the Lit has changed mine. It has made me reflect

od. ag.
critically bout sy life w.sakshieducation.com
The novel has become a popular piece of literature, more among the youth than among the older
population: '

A

B

C  The author uses the plot in her novel to present her philosophy about life in a positive light, rather

than relying on the merits of the philosophy per se.

D  The author is known to be a writer of great power. The intricate and captivating plots in her
novels shows that she has a subtle and ingenious mind. _

E People have been jolted out of their beliefs about love and other different aspects of life after

reading this novel.

The options to the questions 75- 77 are same as the reviews/ reviewers indicated above.

75 There has been criticism about reviewers that they write reviews after having a cursory réddin@of the book in 1
question. Based on the analysis of the different reviews, which reviewer is most likely, read the book in
greater detail as compared to the other reviewers? '

76  Outthe five reviews given, which one can be most objectively validated? 1

2
77 Which reviewer eulogises the author rather than critically reviews the :6 ' I
*

D
(,(b-‘:
6\5 o
R | o -
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*
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Section C ~ Analytical Reaspning and.Decision in
O Y. SRS hrat s AntiBrcidanaking
Indian government may hold lop executives responsible if state-run power companies fail to meet performance
targets and punish them with fines and transfers, The strict performance parameters are aimed at ensuring that at
least the reduced target for 62,000 MW of generation capacity addition is achieved before the end of the 11th
Plan, said a power ministry official. Performance of chairmen and managing directors of the power Public Sector
Units (PSUs) in project implementation will be assessed as per the terms and conditions stipulated in the
company’s memorandum of understanding (MoU) with the power ministry, he said, requesting anonymity.
Performance parameters of executives had came under strict scrutiny due to a lack of progress in capacity
addition program. While the target for the 11th five year plan has already been scaled down by the government
from 78.500 MW, in the first three years of the plan yielded only 22,302 MW of fresh capacily,

If you were the chairman of one of these power PSU's. which of the following statements (all of which are
assumed to be true) could best be used in order to strengthen your case against the government holdi
executives responsible?

t.  The labour unions, owing allegiance to ruling party at the Centre, are not allowing work 1« s with their

demands for wage hikes that are untenable
i1. The actions of the mid-level management are not in line with the objectives laid down @ top management
1

on account of the

iii. The delays have been due to difficulties in obtaining funds at reasonable interest
recessionary conditions QT

iv. We are not to blame. The government is not doing enough to ensure availabili sufficient fuel to power the
existing plants. let alone the new plants. . G

v. The government had ignored the infrastructure availability like n nd environmental clearances
required for such projects and therefore set an unrealistic target 1o _Deevg with, and the revised target is also
unrealistic as well.

A iand ii 0

B.iand iii

C. i, iii and tv

D.ii.ivand v

E. i, ii. iil, iv and v @
’\-a

Answer Questions 79 - 80 on the basis of *ec ph below

The CEO of ABC Telecom Lid. (ABC )is ndary since he received the telephone call in the morning [rom
his counterpart at LMN Telecom Lid. @Emh companies were engaged in a bitter experience a couple of
years ago when they had attempt rge with the intention of creating a behemoth telecom company,
possibly the largest in the world. er had fallen through due to opportunistic behaviour on the part of Mr.
Das, then CEO of LMN. Duri the merger talks were taking place. Mr. Das had also approached a few
other suitors for LMN in an ¢ 10 force ABC 10 pay a higher price. Further, there were reports of attempts by
management of LMN 1o scuttlead#® deal. Back then. ABC had also faced stiff opposition to the deal from one of
its large shareholders.

Since then, a lot _
drastic fall in the t value of both companies, with ABC comparatively losing much more in terms of market
y has become more difficult for both companies, especially for LMN. On the brighter side for
1g shareholder had recently sold off his stake to another investor who earlier had supported the

“deal with LMN a couple of years ago.

original m

Which of the following would be the most appropriate line(s) of thought for the CEO of ABC to adopt in
response to the offer by LMN?

i. Once bitten twice shy. There is simply no way I can think of resuming talks with LMN after their unethical
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81

L

behaviour the previous time around, I would rather spend my time on merger discussions with other
compeaies: Www.Sakshieducation.com

ii. The deal may make less business sense this time around. Huwever, if it goes through, 1 will become the CEO
of the world's largest telecom company. So let us try our luck once more.

iii. I will resume talks only if they provide guarantees as to the reimbursement of our expenses incurred, in the
event of the deal not materializing.

iv. Let me not be biased against dealing with LMN. If we can secure the deal at & reasonably low price, benefiting
our sharcholders, let us go ahead with it.

v. [ am not sure if we can raise the money now. In any event, they mmﬁmng greater financial problems.
So let’s not hurry now. We might have an opportunity to buy them out at a ¢heaper price later.

A.iand i1

B. it and iv et
C. i1 and i1i Pk s ey
D.iand iv

E. ivandv I i

The merger of ABC and LMN has been confirmed after detailed nego
share of the resultant entity. LMN has financed the merger by tam S m
from its bankers. in the hope that it would be able to streamline operations and red

which will allow it to repay the loan. If you were an investor lookmgli :
the following could be the strongest reasons for staying away from invesgneSg:

holding the majority
'market interest rates
DSES 10 the resultant entity

C. The combined management did present have any grand btf og

D. ABC’s management was giving in to Mr. Das who was A Opportur
E. LMN was using high cost debt to purchase anothc:t. y in the same industry

with no visible advantage for the combined ent petitors.

Wind turbine maker Leone Energy posted a net @ Z 250 crore for m&mm’mded March 31. 2010 as
against a net profit of T 350 crore in the s #fter a year-ago. In the financial year 2009-10, the company
clocked a gross income of ¥ 6,517 crore, st T 9.778 crore in mwm Leone Energy clocked a
loss of X 1100 crore in 2009-10, as \nct profit of T 320 crore in 2008-09. The sales revenues stood at
Z22.400 crore for the year, approx ly 21 per cent less as against zzs mm ltst year. For the financial
i ' v's sales volume (in terms of capacity ¢cts executed) was 4,560
MW from 2,935 MW a yefig ago. CEO of Leone Energy in his messnge o shareholders suggested that the
poor performance of the @ as the result of adverse economic mum uring the year ended March
31.2010 = S

You are a shareho ld%ﬂﬂ 5% of the shares of Leone Energy. have seen the stock price decline by more than
50% during the $gar 2009-10, and are quite upset with the way the management has been handling the business.
You have dec y confront the management at the next shareholders’ meeting and have chosen the following 5
points to a ainst the CEO’s version of the story. In light of the above paragraph, select the most appropriate
5 statements that you, as a disappointed shareholder. should adopt as a stinging and robust preface
e against the management in front of the management and other shareholders.

¢ management is not doing its best to maintain the profitability of the company
The company has actually increased its sales volume during the year under consideration

¢ The adverse economic conditions have led to a worldwide increase in the adoption of alternative
energy sources, reflecting in all-time highest profits for wind turbine makers in both developed and
developing countries

d  The management has been lax with its employees as the management enjoys a large set of benefits
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from the company that they yyAjisakshieducation.eomyin cmployee.

€  The company is trying to increase salos by charging lower, unprofitable prices.

Aibca
B.a.cb
C. be.c
D.cbe
E.eb.c

82 On 1" March, Timon arrived in a new city and was looking for a place to stay. He met a landlady who offered to 3

5

.8
16
.20 O
.31

moomi

2
Read the following case and choose the best alternative (Questions 83 -—86}:@0

Chetan Textile Mills (CTM) had initiated various employee welfare sch e employees since the day the
mill began its operations. Due 1o its various welfare initiatives and snc% sponsible business practices, the
organization had developed an impeccable reputation. Majority of #H8yctdlar workers in Chetan Mills had
membership of Chetan Mills Mazdoor Sangh (CMMS), a non politigal @ union. CMMS had the welfare of its
members as its guiding principle. Both CT M and CMMS address@d varidus worker related issues on a proactive
basis. As a result no industrial dispute had been reported from tH&oReafiization in the recent past.

These days majority of the employers deploy large numbez act labourers in their production processes. In

an open economy survival of an organization depends on @

organization must be able to reduce cost and haved
make reduction of regular workers almo@b ¢, but organizations can overcome this limitation by

through contractors (contract labourer) reduces th

employing contract labourers. Contract labouRers n®ither get the same benefits as regular employees nor do they

have any job security. According to vari nL surveys, government owned public sector units and other
. departments are the biggest employers Qatact labourers in the country. Contractors, as middle-men. often

exploit the contract labourers, and the® ment organizations have failed to stop the exploitation.

Over time CTM started engagin% number of contract labourers. At present. more than 35% of CM’s
workers (total 5,000 in numb tract labourers. CMMS leadership was wary about the slow erosion of its
support base as regular workers ly got replaced by contract workers and feared the day when regular workers
would become a minority mgmill. So far. CMMS has refused to take contract labourers as members.

Recently, based on . CTM management started to investigate the alleged exploitation of contract |
labourers by certain tors. Some contractors felt that such imvestigations may expose them and reduce their
profit margin. stigated contract labourers to demand for better wages. Some of the contract labourers

sought the su f various political parties in order to increase their negotiation power. Contract labourers




83

84

83

86

In the wake of recent happeninos, wh lﬁi]on expected from CTM management? From the combinations 4
given below, choose the bestméﬂe% Qenibl] _Ieduc?gilon com

L. Stop the current investigations against the contractors 10 ensure industrial peace; after all allegations were

based on rumours.

I1. Continue investigations to expose exploitation and take strong actions against trouble makers.

1L Get in direct touch with all contract la

bourers through all possible

means, communicate the need for current

investigation o stop their exploitation. and convince them regarding CTM' s situation due to competition. Also

expose those contractors who are creating

problems.

IV, Promise strong action against the security guards who are a%ﬂlty

V. Increase the wages of contract labourers.

ALV
B.1.1I
C.ILV
DIIL IV d to 0
E. I, V e c |
e
In the current context. which among the following represent the most suitah{€ réagti®n fr leadership?

A Distance CMMS from the episode and explain that CMMS ®

conference.
B. Offer membership to contract labourers,
in CMMS.

€. Do not offer membership to contract labourers, but

prevent the formation of another union 1

which would put thy

in CTM.

D. Start another union exclusively for coniract la la

E. Adopt a neutral stand in public, and pass on it

Out of the options given below., which r@e

D. Setting up a new comm

1e best pniicymby OVernI e

W‘L B g
Wmmwmkm

in order to

iyt ].' ‘—. .'-L”r |_ r

) I|||_;||'L !

10 the CTM management.
-at the national level?

q to both regular and contract workers.

A. Asking CM management {0 pay
B. Income tax raids in offices of ¢ under investigation.
C. Setting up a new labour wel a%c mthm CM premises.

( to

% recommendations for changes in labour legislations with an objective 0

reduce exploitation of copigaciflaliourers.
E. Use entire governme Thery 1o support CTM. which has an impeccable track record.

The criminals in théSugbunding area often took their cue from the si

problems outsi ~mill which would later m
i tify the stakeholder that should be the imme

ustomers who are co 1

wuation in the mill, creating law and order

ake it difficult for workers to come 10 mill safely. Given the
diate priority of CTM managemcm

boure:b who were allegedly beaten by the security guards of the company.
admm:slratlon that is concerned about the spread of violence.
S that prefers : an l't:m:m:tzhate- settlement of the issue.
riied about prices and regular supphes

E. Contract labourers whafawdemmdmg job saeunry and same wages as regular employees.

Answer question nos. 87 to 89 hased on the following Momﬁtion

Alex Company has ifs office at the third

floor of a multi-storied building in Mumbai. There are 5 rooms to be

allotted to 5 managers (designated M1 to M3). each of whom will occupy one room. Each room has its own

2




87

38

89

ddvantages and disadvantages. Somyyywwisakshieducation.€omier « citer the it or the dining
room. while some are more spacious. Each of the five managers was asked to rank the room preferences amongst
the rooms 301, 302, 303, 304 and 305. Their preferences were recorded as follows:

Preference |MI (M2 [M3 [ M4 | M5
1" 302 (302 [303 [302 |301
2% 303 304 | 301 |305 | 302
3 1304 [305 |30+ |304 |305
4% 3 1305 | 303

Slli I 02

Some managers did not indicate any preference for some rooms, as they did want to be there under any condition.
The company decided to allot rooms to managers in such a way that so that the managers get rooms r their
best preference or close to that.

o

I manager X gets his/her 1st choice, then his Ihgrpreferenqe ranking is | ang S anagement decided to allot
rooms so that the sum of the preference faﬂﬂé'ri;i;qf all the managers i.wz iz8d, What is the total preference
y n i

ranking for the rooms allotted to all the manag

naf office and Manager M6 takes his place, Manager M6
br: 301, 303, 302, 304 — in this case what would be the
agers?

A
B

How many managers would get their rooms’aspﬁiﬁh:r best preference? ' O
C.

D. 2

o

b Loia —

AS

moow
D og o

_ 2
Stppose that Manager M2 decides not to join the nefly

has the following preference ranking in decrefgin s’
sum of the preference rankings allotted to al%' '

N
9

Answer question m@ based on the following information

i ne
« T

SREHER-
T oo =l N

Every Sanirday, the bers of Raja Harish Cﬁaﬂdi‘a“tlﬁﬁ meel in the evening. All the members of the club are
honest and neve Bast Saturday. the following conversation was heard at one of the tables with five members
siLRg aroupy

Satya Sadhan: TH this club not all members are f’riéhds?w';m each other.

Satyabrata: None of the pair of friends in this ¢lub has any common friend.

Satyajit: Every pair of members who are not friends has exactly two common friends in this club.
Satya Pramod: There are fewer than 22 people in this club.
d il _
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o1

How many members are therWWWeS@Kshieducation.com

A5
B.7

mgo o
t‘Ju-—'
(== LY

How many friends does Satya Sadhan have in the club?
A2

g
L0 <] h W

Answer question nos. 92 to 95 based on the following information:

In the country of Gagan. air travellers can buy their tickets either directly from the ¢ from three websites
that are licensed to offer ticketing services online. In Gagan most of the confmergt¥ transactions are done
electronically, and all citizens have an account with its national bank CeeCee. As Sygstilt the three websites have
become popular and each transaction through these websites carries & " ofgss. 250 (Gs. refers to Guppes.
currency of Gagan), Given below are four post new-year (January 2. 2011 uuary 28, 2011) offers from three

competing websites: . .

=t. hotel or rail tickets) through
pible for two free air tickets (offer
requests from January 1, 2011 to
t tweaty-one days in advance. Free
Qcafinot be cancelled. Free tickets cannot be exchanged

to secure the free ticket as per the request. However.
seat availability in airlines selected and finalized by

C ozy_travel Offer: Make a confirmed booking for any Servig {
Cozy_travel.com from December 5., 2010 to February 8, 201 ls8
@(

is limited to the base fare). Free tickets have o be booked & _“_"'.”"" in l_
itted at least

February 28, 2011. The request for free tickets should §
tickets are non amendable (except the passenger name
for cash or kind with anybody. Cozy_travel willy
ticket confirmation is subject to airline sche
Cozy_travel from specific available airlines

Cool_varra Offer: Book any air tickcl%% “dtine on Cool_yatra.com on or after December 21, 2010 and get

your next ticket free. Under this the base fare of free tick ﬂmﬂ,ﬁ;nﬁmdm by Cool_Yatra.com.
Customers will have to bear reswharges (other fees and W). The value of base fare will be
refunded to passenger on/after % or fifteen days after completion of travel on free ticket (whichever is
later). The free ticket can%g Boo nly on GagaAir flights. The free ticket must be booked within fifteen days
of booking the original tie ¥he travel date of free ticket must be fifteen days after the booking date of frec

ticket. There must be ay gap between the travel date of main/original ticket and the free ticket. The
iravel date of free i€ketShould be on or before February 28, 2011. The free tickets cannot be transferred. On
cancellation of the I ticket(s). you no longer remain eligible for the free ticket(s).

, Back Offer: Easy travel offers 25% cash back ‘on all air ticket bookings between December 3,
28 2011 using CeeCee net banking services or its debit/credit card. The cash back amount
jitd@ back to customers account within twenty-one days from making the transaction. Maximum cash
ba this period is Gs. 400 per person per ricket and total amount that can be claimed by a customer is Gs.

Easy_travel

Sath Ek Offer from Easy_travel: Book an AirSpice ticket with Easy_travel using any credit/debit card, and
gel another ticket absolutely free. The free tickets will be issued on AirSpice on its entire network. The offer is
valid for sale from January 11. 2011 to January 31, 2011. The free ticket must be booked at least filteen days
prior to the date of travel and need to be completed within the offer period. The promotion code for the free ticket
will get activated only seven days a ter booking the main ticket. Easy_travel will charge a handling fee of Gs.
1000/- per person for any amendments made on main ticket. Cancellations of tickets purchased under this offer
are not permitted. The free tickets obtained under this offer can not be exchanged for cash and cannot be re-
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92 Which offer has got the maximum chance for becoming the most popular among the air travellers of Gagan 3
during post new-year period? Among the following options, choose the best offer-explanation combination,

A. Cozy_travel, because the customers will get twice the number of flights and the offer is applicable for all
services provided by Cozy_travel.

B. Cozy_travel. because it allows any customer to transfer the free tickets to any one if they are not interested in
using it.

C. Ek ke sath ek offer from Easy_travel, because it offers absolutely free tickets to all customers.

D. Cash Back offers from Easy_travel, because all other offers are restricted either in terms of airlines to choose
or the period of offer.

E. Cozy_travel, because it allows customers to use free tickets even after POst new-year period.

93 Suppose the offer from Cool _yatra became the most popular, and the other two agencies hav @ W help from 3
business consultants to make their offers more attractive. Identify the best recommendation e following.

A. Recommendation for the Ek Ke Sath Ek Offer of Easy_travel: Negotiate with GagaAfRefcome up with an
offer that provides one free ticket for every main ticket booked in AirS pice. ¢

B. Recommendation for the Cash Back Offer of Easy_travel: Ensure that cash back@.t will be credited back
o customer’s account within fifteen days.

C. Recommendation for the offer from Cozy_travel: Reduce the number o ? 0 one and applicable only
for air rticket booking (not for other services). but allow custow& book their free tickets from
Cozy_travel.com in GagaAir or comparable airlines without any dat ictions.

D. Recommendation for the Ek Ke Sath Ek Offer of Easy_travel: with GagaAir to come up with an
offer that provides one free ticket for every main ticket booked iflGags Xir and run both offers simultaneous| y.

E. Recommendation for the offer from Cozy_travel: Do nort al lomers to transfer tickets to others, but
disclose that Cozy_travel will consider both GagaAir aify pice flights that connect all cities in Gagan for
issuing free tickets.

94 Jagan is appearing for MAAT exam on January 2. 2 “city which is not his home town and he is yetio 3
book the air ticket to reach his hometown from M - Based on his MAAT performance, he is confident
about getting an interview call from the institgte ofhRchoice located in Akashpur. All institutes associated with
MAAT will contact the short-listed cmadidatw next two weeks with venue details and date ol interview.
Interviews will be scheduled within fifieen 4 m the date of announcement of shortlist, and will be held at

: the respective institutes. Jagan’s homgtown, AT centre, and Akashpur are connected by all airlines and the
base fares starts at Gs. 1,000. While%ashpur for the interview, Jagan will have (o put up in a hotel. The
shpur through Cozy_travel is Gs. 2.400. Equally good hotels which

arge Gs. 1,000. All the three travel websites assure a minimum of one
agan has no other reason to fly which one of the following offers should

minimum charge for booking a ho
are not listed in the Cozy_travel w
free air ticket for every bookidff
Jagan go for?

A. Ek Ke Sath Ek Offer ¢
B. Get the flight tickeg:

journey and exc
C. Get the fligh
D. Get the fli
E. Get the i

_‘rrave!

dhotel booking from Cozy_travel. He should use confirmed free ticket for return
extra tickets (if any) on barter basis

ugh Cozy_travel, and use the second ticket if available for the return Jjourney
ket from Cool_yatra

et and hotel booking through Cozy_travel, and use free tickets for return journey

95 Janaki needs to reach Khilli on January 28 to visit her uncle. and will return after fifteen days. Janaki found thar 3
the minimum fare for both the te and fro Journeys is Gs. 5,000 which includes Gs.1200 base fare. If all airlines
connect Janaki’s city to Khilli, and all three offers (except the Cash Back Offer) ensure minimum of one free air
ticket, which of the following should Janaki opt for?
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A. Ek Ke Sath Ek Offer of Easy_travel
B. Cash Back Offer of Easy_travel
C. The Cozy_travel offer
D. The Cool_yatra offer
. Buy air tickets directly from airline websites

Answer question nos. 96 to 98 based on the following information:

O a certain day six passengers from Chennai, Bengaluru, Kochi, Kolkata, Mumbai. and Hyderabad boarded the
New Delhi bound Rajdhani Express from TataNagar. The following facts are known about these six passengers:
\ 55

s The persons from Kochi and Chennai are less than 36 years of age. .
Person Z. the youngest among all is a doctor.

e The oldest person is from Kolkata and his/her profession is same as that of the per
Mughal Sarai.

e The persons from Bengaluru, Chennat, Hyderabad and Mumbai got down at fi
cldest among these four got down at Kodermi and the youngest at Kanpuor.
New Delhi is older than the person who got down at Mughal Sarai. £

e The engineer from Bengaluru is older than the engineer from Chenn i

e While arranging the teachers in increasing order of age it was ol

ho got down at

ifferent stations. The
1 who got down at

e middle person is as old as

i
e

the engineer from Chennai. N L
e Person Y who got down at Mughal Sarai is less than 34 yegrs ¢ Q AR i o
The teacher from Kochi is four years older than the 31 yéup Sid daetor pml@mblumbm
In the past, three of the travellers have served in the Indd JOW- (i Jomd pemtienl ko
. : y s | S 1M
Which of the following options is true? <: I 4 =k S gdnagly o _t
A. The person from Chennai is older than the person, fr i. | M =
B. The oldest teacher is from Mumbai. eyl JNRRE N

C. The person from Mumbai is older than at Jea: @ ofthe engineers. T kvw,x
D. The person from Kochi got down at Mu Stad, and was an engineer. o
E. The person who got down at New D&\ . than Y. who in tum is older than the person from Hyderabad.
All six travellers are working in Sun® organization for at least one year. The organization recruits two
categories of employecs _ freshyaratuate’ and those who have at least five years of experience in the Indian
Army. In both cases a new r%s ould be less than 30 years of age. Among the travellers from same
profession, those with mi sround are at least five years older than the travellers who joined as fresh
graduates. Tdentify the % who joined the orgarﬁzalibﬁ‘ﬁsi,ffésh"gaﬁuﬁdﬁjii [

A Oniy Y :

B. The person Y ai wraveller from Chennai. :

and He travellers from Kochi and Hyderabad.

from Kochi and Hyderabad.

m Mumbai. the traveller from Kochi and the younger engineer.

er the youngest nor the oldest among the travellers from her profession, which of the following is

B. She is 36 years old.

C. She got down at Mughal Sarai.
D. She is from Kochi.

E. None of the above

Answer question nos. 99 to 101 based on the following information:

Mrs. Sharma has a house which she wants to convert to 3 hostel and rent it out to students of a nearby women's
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college. The house is a two storey building and 5&%’;&1 ) ﬁ?gﬁqﬁ% hen one looks from the outside,
three rooms are found facing North, Mﬁ &q » urreefound facing West and three found facing
South. Expecting a certain number of students. Mrs. Sharma wanted to follow certain rules while giving the
sixteen rooms on rent:

All sixteen rooms must be occupied.

No room can be occupied by more than three students.

Six rooms facing north is called north wing. Similarly six rooms facing east, west and south are called as east
wing, west wing and south wing. Each corner room would be in more than one wing. Each of the wings must
have exactly 11 students. The first floor must have twice as many students as the ground floor.

However. Mrs. Sharma found that three fewer students have come to rent the rooms. Still, Mrs. Sharma could
manage (o allocate the rooms according to the rules.

How many students turned up for renting the rooms?

A.24
B.27 O
€.30 O
D.33

E. None of the above Q *

If Mrs. Sharma allocates the north-west corner room on the ground floor to 2 sl‘-zde e the number of
students in the corresponding room on the first floor, and the number of studentsq iddle room in the first
floor of the east wing are: e&

A. 2 and I respectively ®
B.3and | respectively

C. 3 and 2 respectively O

D. Both should have 3 students

E. Such an arrangement is not possible.

If all the students that Mrs. Sharma expected initially ha ; :
allocated the north-west corner room in the ground f15; dent, then the number of students in the

corresponding room on the first floor. and the n ogludents in the middle room in the first floor of the east
wing would have been:
A. 1 and 2 respectively

B. 2 and 3 respectively 6
C. 3 and | respectively

D. Both should have 2 students.

E. Such an arrangement is not pos %
L 2

e
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